Answer alf qucstions
1. Form the quadratic equatipns
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2. The root of the quadratic equation x? + Px-q=0arelan
Find the vaiues of P and q (3mks)
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7. Simplify )
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8. Solve the following triangles (amks)
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o~ 27 b~ =3 =TX ¥
5= © ~ 35:(976”*‘5"’3‘7
b) Use your graph to solve — ,;9_3(}-\/&’0&—\1_ o = —bo T~ \HXY
i) 2x%+ 5x- 12 =0 (1mk) 0= PP R 3y = o =30
i) x* +x- 6 =0 (2mks) — zoC Y= s — \ O

i)  3-7x—3x"=0(2mks) st-léa\o V619
' 3TN0 ["\9-1(8 T
11. i)On The same axesdraw the graph of y =Sin xand y = Cos x for 0O<X<360° (5MKS)
ii) State the coordinates of the two pointsgf intersection (1mk)
iii)What transformation maps the graph of y = sinx N I to the graph of
y =Cos x (1mk) ’
iv) From your graph find the value of Xif
a) SinX=0.71(1/2mks)
b) Sin X = - 0.81 (1/2mks)
c) Cos X =-0.99 (1/2mks)
d) CosX=0.3 (1/2mks)
v) Use you graph to find the angle whose cosines are
a) 0.7 (l mK) b)1 (1mk)

vi) Use your graph to find the Sin of
a) 153° (1/2mk)
b) 106° (1/2mk)

12. In the figure below VUZ =110° and XVY = 30° Find the value of VWY (3mks)
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-
AB such that AD: DB

- —
13. Triangle OAB is such that OA=a ang?OB =b s Of
= 1:1 and E lies on OA suth that OA : AE =31
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Findintermsof aand b
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d) BA (1mk)
— :
e) CD (1mk)
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f) DE (2mks)
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g) EC(2mks)
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